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~ (Computer Fundamentals and Programming )
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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions as directed :
' 1x5=5

GeTe Al ehiRIsT Mot Oes ot ¢

{a)A An operating system is a system
software. (State true or false)

ARG fougon ot %ECTN software.
| (%% & <187 &)

() The binary number 110101 in octal
format is . (Rl in the blank)
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()

110101 binary R octal format ©
el (3R 3R o )

The range of numbers which can be

~ stored in a char type variable is :

@

fe)

@Bl char type 519 TR “al FRYR AR
A ‘

) -99 to +99

(i) -128 to +128

(iii) ,-128 to +127

(iv) None of the above

' (Choose the carrect option)

(1% Resor AR SRed)

Precedence of arithmetic operators are
higher than assignment operator.
- (State true or false)

Arithmetic 9I9It4639 Precedence of
anthmetlc W”ﬂm 1]
(% & o7 f73)

dynamic memory allocation.

- (Fill in the blank)
Dynamic memory allocation 33I& B
library Rt I 31 23|
| L (AR e )

......
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-

library function is used for
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2. Answer any five of the following questions :
2x5=10

Wﬁmmﬁaﬁm%ﬁa@mm

' (@) What are the major components of a
digital computer ?

%%@aarﬁv@%mwwﬁ—mmﬁw

(b) What are the advantages of 2’s
complement over 1’s complement ?

1’s complement ©(3 2’s complement I

JReR /e

(c) List any two differences between ASCII .
and Unicode.

ASCII SIS Unicode-3 Rzl 761 #iiefs vy |

(d) What are the differences between
compiler and interpreter ?

Compiler WI¥ interpreter 3 *I<<AR B4l |

(/) What is meant by associativity of
operator ?

- Operator 9 associativity (& ﬁs ESIER
- () What is L-value and R-value ?
L-value 9% R-value &2
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(h)

0

1(se

. What is the difference between break

and continue statement ?

* Break 9I1% continue statement 9 “iHEIS

&

What are the differences between -
‘malloc () and ca_llloc () function ?

malloc () ®$ calloc () ‘J‘TW AR
Rl =

What is the difference between
structure and union ?

Structure SI¥ union I “HWRIT ot |
What is function prototype ?
Function prdtotype e

Answer any four of the following questions :

S5x4=20

oefS it QR Rtz sfsre Seg B ¢

(a)

Draw a flowchart to find the largest of
three input numbers.

FRD! input 2t TRYT BB Semide 6
flowchart i |
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(b)

(c)

@

(e)

What are the. different datatypes
available in C language ?

C language © ¥3 Rfeq datatypes @R
e -

Exﬁlain different types of operators
available in C languag? e

C langl'lage' © QWT ﬁf\:a_ﬂ 2$IRT operators
@IET Ff =0 |

Differentiate call by value and call by
reference with suitable example.

~ Call by value W% call by reference I

SHFRIT SR GICS I 30|

Write a recursive function to find GCD
of two integers. :

oI S1e YR GCD SFRRE 9Bt recursive
Tigoa o

() What is a pointer ? List the permissible
operations on pointers.
Pointer 2 Pointer I TS ??ﬁ?l a9 -
frarR SiffRel oee |

(g) Write brief description of any five string -
manipulation functions.
String T@ 39 RPN 56! TIEE Y
At forr |
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" (h) What is preprocessor directive ? Write

o , . verform following
brief description of any three (d) Write functlonstntggp er
preprocessor directives. - operations on S

' irecti | String © ﬁ'ﬁﬁﬁ@ TR PR
Preprocessor directive &2 Rzt foor
. preprocessor directive I 53 I i | : forat |
. (i) Reverse the string ¢ vowels in the
- ' VOW
4. Answer any one of the following questions : (i) Ca!cu,late number O
' ’ ' : 10x1=10 ~ string
Ricetzat @bt g Beq forat ¢
(@ What is format specifier ? Describe any . - . .,
ten format specifiers. = -_

Format speciﬁef &2 Reen .’*721‘37 format -
specifier 3 Ial f&7at | :
(b) Write a program to input two matrices 3
~and find sum and product of both. ‘
%ol matrix 30 IR Prres @b o
SJRTE ST o1 cetat Bt
~{c) Write a C program to display the

contents of a file. Also display the

number of characters and lines in the
file.

uﬂ%t‘@iia@wmmmmmmcmm
foral | TiZeore At WYY WY Wi AR
WRANE MYS |
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